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Name:
CC Geonetry (H)
Parallel Lines Cut by Transversal Homework
Questions 1 through 3 refer to the following: Questions 4 through 7 refer to the following:

/‘T In the diagram below, AB I CD.
1/2 .t
3/4 Ff
5/6 .l _A 1/2 B;
e T
. 5/6

- C 7/8 D
1) 41 and £5 can be classified as E
A) alternate interior angles
B) corresponding angles

A

Y

C) interior angles onthe same side of the 4)  1fme2=70°, what isms7?
transversal A) 20° C) 180°
D) none of these B) 70° D) 110°
2) 43 and £6 canbe classified as 5)  1fmz3=60°, whatism/7?
g e r g o s 0
C) interior angles on the same side as the B) 120° D) 30
transversal
D) noneof these 6)  Ifmc4=120°, what ism.5?
A) 90° C) 30°
3) 43 and 45 can be classified as B) 120° D) 60°
A) alternate interior angles
B) corespordingangles 7y Ifmz5 = 120°, what ismz3?
C) interior angles on same side of transversal
D) noreof these A) 60° C) 30°

B) 180° D) 120°




8)  Inthe diagrambelow, AE Il BD.

/
/X
D

Ify=280°, find x.

Questions 9 and 10 refer to the following:

Inthe figure below,ﬁ I CD.

i

A 1/2 B,
74

C 5/6 D

< 78 >
F

9) If mz4 = (2x +10)° and m£6 = (3x - 20)°, find
the value of x.

10) Ifmz2=(3x + 15)° and m26 = (5x - 5)°, find
the mz2.
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11) Inthe accompanying diagram, ABis paralel to CD,

and transversal EH intersects AB and CD at F and
G, respectively.

If MLAFG = (2x + 10)° and
MZFGD = (x + 20)°, find the value of x.

12)  Inthe accompanying diagram, AB I E,
m£x =50°, and m2y = 60°.

A= X >B
Z
C< 4 >D
Wheat is me.2?



1) B

6) B

8  100°
9 38
10) 45°
1) 10

12) 110°

2 A

7 A

3 C

5 C
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